Subject: Re: Arrays of Structures
Posted by promashkin on Thu, 22 Jun 2000 07:00:00 GMT

View Forum Message <> Reply to Message

Sorry if | repeat some of the things said above. The following should
work, because, just like Ben said, despite S1 and S2 are both anonimous
for the user, they are internally different for IDL. Make S2 the same as S1:

IDL> S1 = {a:0, b:.1, c:"}

IDL> S2 = S1
S2a=3&S2b=7&S2.c=%
IDL> A = Replicate(S1,3)

IDL> A[1] = S2 ; can replace a structure.

Cheers,

Pavel

> Ah, that was easy!

>

> Now here's 'How come #2'

> | know that | can replace a given field in one of the structures.
> How come | can't replace Array element X with an identical structure (as
> | would with a named structure?)

>

> IDL> S1 = {a:0, b:.1, c:"}

> IDL> S2 ={a:3, b:7., c:'x}

> IDL> A = Replicate(S1,3)

> IDL>A(1l).c='q' ;replace a field value without a
> problem

> IDL> A[1] = S2 ; can't replace a structure.

> 0 Conflicting data structures: S2,A.

> 0 Execution halted at: $SMAIN$

>

> Thanks,

> Ben

Page 1 of 1 ---- Cenerated from conp. |l ang.idl - pvwave archive


http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=usrinfo&id=3353
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=rview&th=11902&goto=20450#msg_20450
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=post&reply_to=20450
http://idlcoyote.com/comp.lang.idl-pvwave/index.php

